
GAT-A Business and Engineering

Sr Questions Answers Choice

1

Complete Sentence
After a period of protracted disuse, a muscle will atrophy, ............... both its strength
and the ability to perform its function.

A. Insuring
B. Regaining
C. Sustaining
D. Losing

2
Complete Sentence
Her reaction was not the only ............. one

A. Workable
B. Possible
C. Likely
D. Good

3

Complete Sentence
His moral decadence was marked by his ...................... from the ways of integrity and
honesty.

A. Obsession
B. Declivity
C. Departure
D. Opprobrium

4

Complete Sentence
The officers threatened to take reprisals if the lives of their men were ............... by the
conquered natives.

A. Destroyed
B. Endangered&nbsp;
C. Enhanced
D. Irritated

5
Complete Sentence
Ali ................... force himself to work on till late in the night.

A. Would
B. Would be
C. Could
D. Used to

6

Complete Sentence
The chairperson is a scintillating speaker whose lectures completely ..............
students.

A. Entertain
B. Absorb
C. Enthrall
D. Alienate

7

Complete Sentence
We were amazed that a man who had been heretofore the most .............. of public
speakers, could in a single speech, electrify an audience and bring them cheering.

A. Pedestrian
B. Accomplished
C. Masterful
D. Auspicious

8
Complete Sentence
The unruly behaviour of the children .............. their parents.

A. Aggrieved
B. Impeached
C. Incensed
D. Tempered

9
Complete Sentence
The task seemed impossible but somehow Jalil ...................... very skilfully in the end.

A. Pulled it up
B. Pulled it off
C. Pulled it away
D. Pulled it out

10
Complete Sentence
Normally, an individual thunderstorm ................... about 45 minutes.

A. Lasts
B. Ends
C. Remains
D. Continues

11
Complete Sentence
A legislation was passed to punish brokers who ............. their clients funds.

A. Defalcate
B. Devastate
C. Devour
D. Embezzle

12

Complete Sentence
There is no incentive for America to sign the treaty since there is every reason to
................ no other nation intends to honour its provisions.

A. Regret
B. Inform
C. Believe
D. Occupy

13
Complete Sentence
Salma is much too ................... to have anything to do with that obnoxious affair.

A. Noble
B. Proud
C. Happy
D. Difficult

14

Complete Sentence
Knowledge is like a deep well fed by ........... springs, and your mind is the little bucket
that you drop in it.

A. External
B. Perennial
C. Immortal
D. Inehaustible

15
Complete Sentence
The driver suddenly applied the brakes when he saw a ............. truck ahead of him.

A. Stationary
B. Moving
C. Static



C. Static
D. Immobile

16

Complete Sentence
We lost confidence in Salim because he never .......... the grandiose promises he had
made.

A. Tired of
B. Delivered on
C. Retreated from
D. Forgot about

17
Complete Sentence
He has no money now:

A. Because he was very rich once
B. As he has given up all his wealth
C. Because he always spends money
with utmost care
D. Because he had received huge
donations once
E. Although he was very poor once

18
Complete Sentence
He tames animals because he:

A. Is fond of them
B. Hates them
C. Seldom loves them
D. Is afraid of them
E. Wants to set them free

19
Complete Sentence
My mother is so poor

A. To get medical help for my father
B. That she cannot buy food for us
C. To send me to school
D. Because she will not work

20
Complete Sentence
Shan, where are you ? ................... up this tree.

A. There I am
B. There am I
C. Here I am
D. Here am I

21
Complete Sentence
How much a man earns is as important as ...................

A. Where does he earn
B. Why does he earn of all
C. When does he do so
D. How does he do it
E. How well he spends it

22
Complete Sentence
He is so lazy that he

A. Cant delay the schedule of
completing the work
B. Cant depend on others for getting
his work done
C. Always extends help to others to
complete their work
D. Can seldom complete his work on
time
E. Dislikes to postpone the work that
the undertakes to do&nbsp;

23
Complete Sentence
Whichever way you approach the problem ..................

A. It will not solve
B. It will not be solved
C. No none will not solve it
D. It will not be solve

24
Complete Sentence
The doctor warns him that unless he gives up smoking:

A. His health will soon be recovered
B. He will not recover
C. Will he be able to recover
D. He will not suffer

25
Complete Sentence
He seized control of the country ......................

A. By using diplomacy and force
B. By diplomacy and being forceful
C. By being a diplomat and forceful
D. Not only because of diplomacy but
force

26
Complete Sentence
In order to raise the company profit, the employees:

A. Decided to raise the cost of raw
material
B. Requested the management to
implement new welfare schemes
C. Demanded two additional
increments
D. Decided to go on paid holidays

E. Offered to work over time without
any compension

27
Complete Sentence
The more we looked at the piece of modern art ..................

A. We liked it less
B. The less we liked it
C. It looked better
D. The more we like it
E. Better we liked it

28
Complete Sentence
Unless you work very hard .....................

A. You are not being successful
B. You will not be successful
C. you ought to be successful
D. You be not successful

29
Complete Sentence
..................... I would not have helped such an ungrateful man

A. Had in been in your place
B. Even after knowing that he was
ungrateful



29 ..................... I would not have helped such an ungrateful man ungrateful
C. Had i asked him for his help
D. Thought he did not deserve any
help at all

30
Complete Sentence
I shall not be late for dinner ......................

A. Unless the train will be late
B. Unless the train will not be late
C. If the train is late
D. Unless the train is late

31
Complete Sentence
To succeed in a difficult task ....................

A. You need a person of persistent
B. One needs to be persistent
C. One needs to be persistence
D. Persistent is needed
E. Persistent is what one needs

32
Complete Sentence
The Chairman rejected the proposal of increasing employees salary because:

A. The company had already gained
three thousand crore profit
B. The company did not have
sufficient funds to afford the rise
C. The number of employees in the
company was very small
D. The employees had been
demanding it for a long time
E. It was not difficult for the company
to bear additional burden

33
Complete Sentence
He always stammers in public meetings, but his today speech ...............

A. Was not liked by the audience
B. Was not received satisfactorily
C. Was surprisingly fluent
D. Was fairly audible to everyone
present in the hall

34
Complete Sentence
With great difficulty, ..........................

A. He could keep his cool
B. He could get annoyed
C. He could not tolerate his nonsense
D. He could lose his temper
E. He could perform his usual
functions

35
Complete Sentence
Where are my spectacles ? ..................

A. There are they, on your nose !
B. There they are, on your nose !
C. Here are they, on your nose !
D. Here they are, on your nose !


